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SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
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Al 490
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o= 1,470
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Al 2,800
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OAHY Z2IXNYENSE 10,0008 *40H 5 2,000
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OABIX AdH B4 10,000& x40 «153] 6,000
J| 3,000
= 900
Al 2,100
307 QI2t0| & 65,000 61,616 3,384
J| 32,500
&< 9,750
Al 22,750
o1 s R=Hl| 65,000 61,616 3,384
ogrsAHdze] HelA 40,000
J| 20,000
& 6,000
Al 14,000
OXIHZ=D| H&H| 14,800
J| 7,400
o=} 2,220
Al 5,180
OX| 0§ & XF2t 2| 8,000 x1, 150 9,200
J| 4,600
& 1,380
Al 3,220
OLQXE 2AAE L A T2 1,000
J| 500
o 150
Al 350
KEAS SSHAHUASTAIY (AL s 2R S e 2tel) 103,830 90, 350 13,480
J| 51,915
= 15,574
Al 36,341
201 et 9| 79,030 67,550 11,480
J| 39,515
&< 11,854
Al 27,661
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 585
Al 1,365
301 gt 4= 6,800 6,800 0
J| 3,400
< 1,020
Al 2,380
09 HALAHIE& S 6,800 6,800 0
O 29 /AXNTA NHSA AHIS 4
10,000& 30X x 163l 4,800
J| 2,400
< 720
Al 1,680
O SN A (24)DS A2
10,000 »40H x5 2,000
J| 1,000
< 300
Al 700
307 glz2tol & 18,000 16,000 2,000
J| 9,000
< 2,700
Al 6,300
01 222 F2Hl 18,000 16,000 2,000
OGS AHIBAIY SAAHES2 45 2,000
J| 1,000
< 300
Al 700
OEEAE & 4AR2F 16,000
J| 8,000
< 2,400
Al 5,600
KNAAE SEHLSIAMG (RLH222]) 30,000 21,150 8,850
J| 15,000
< 4,500
Al 10,500
307 glz2tol & 30,000 17,150 12,850
Jl| 15,000
< 4,500
Al 10,500
01 22272l 30,000 17,150 12,850
o225 & ME 25,000
J| 12,500
= 3,750
Al 8,750
O PZEAHAAM2E M= 5,000
J| 2,500
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Al 1,750
NAMNS SEHLSIAL(HEHB0SES & 101,240 101,240 0
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Jl 50,620
< 15,186
Al 35,434
201 LBt2d| 7,320 7,320
J| 3,660
< 1,098
Al 2,562
01 At 22l 7,320 7,320
Oger==gH| 6,000
—clEY . 228 MA 6,000
J| 3,000
< 900
Al 2,100
o234 1,320
—E25+5 ¥ 2= 110,000& *123] 1,320
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< 198
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307 glz2tol & 93,920 93,920
J| 46,960
< 14,088
Al 32,872
01 222724l 93,920 93,920
OuR & HR0L EF A S 80,120
J| 40,060
= 12,018
Al 28,042
OEZMH 12,000
J| 6,000
< 1,800
Al 4,200
O A&H 1,800
J| 900
< 270
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AAS SEAZES o ZelAtd) 19,730 19,730
J| 9,865
< 2,960
Al 6,905
201 Let24E] 19,730 19,730
J| 9,865
< 2,960
Al 6,905
01 At 22l 19,730 19,730
Ogt=&H| 13,830
—SBEZ2 13,830
J| 6,915
< 2,075
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Al 4,840
o994 5,200
— 2AASE 130,000& *403] 5,200
J| 2,600
= 780
Al 1,820
Oex= 700
— Y HANE 2 HUIYX
700,000 13| 700
J| 350
& 105
Al 245
KNGAM SSHUASTAS (XEAIE SATHEAY) 23,000 20,000 3,000
J| 11,500
& 3,450
Al 8,050
201 et | 18,000 9,000 9,000
J| 9,000
T 2,700
Al 6,300
01 At 22l ] 18,000 9,000 9,000
Ogbt=2H| 9,260
—MHEANY EEZ2 M 6,800
J| 3,400
o= 1,020
Al 2,380
—MEZz ) 89 2,460
J| 1,230
= 369
Al 861
O 8,740
—MEBZZ)HE2AH 2A=Y 70,000& *703] 4,900
Jl 2,450
= 735
Al 1,715
— SO Aol 2 2 AL 100,000& *303] 3,000
J| 1,500
& 450
Al 1,050
—XNGASMEEAM /A3 =E
70,000 *6H *23] 840
J| 420
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Al 294
307 gizto| A 5,000 10,000 25,000
J| 2,500
& 750
Al 1,750
01 9L R =H| 5,000 10,000 A5,000
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O Iz =22 5,000
p] 2,500
= 750
Al 1,750
S{AIE] SEALSTAY (SHAYSTHSY) 40,180 118,340 ~78,160
p] 20,090
= 6,027
Al 14,063
101 Q121 b 38,180 116,900 ~78,720
p] 19,090
< 5,727
Al 13,363
04JIAMIERSES 38,180 116,900 £78,720
OXISAIEl SEABST A 22 38,180
-Jl=3 1,750,000 2+ 102 35,000
p] 17,500
= 5,250
Al 12,250
—oixtag 58,0002 %22 x5! 580
p] 290
< 87
Al 203
— &30t 100,0002! 2% * 102 2,000
p] 1,000
= 300
Al 700
— DKol 200,000 x2% 400
p] 200
< 60
Al 140
— = 10,0002 *2% 200
p] 100
= 30
Al 70
201 LBt H Y| 2,000 1,440 560
p] 1,000
= 300
Al 700
01 At et 2,000 1,440 560
OFSAS DR 2,000
p] 1,000
< 300
Al 700
AYEA 2,370,400 2,010,733 359,667
2 272,729
7 40,986
p] 286,791
= 270,925
Al 1,498,969
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el AT (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NATESE MIMEIA STASG (AFR2 240 2202 51,233 37,500 13,733
2lAb X&)
Xl 40,986
< 3,074
Al 7,173
308 XXM SOIA 51,233 37,500 13,733
Xl 40,986
< 3,074
Al 7,173
10 SII 2 SOCHetZ & = 0 & A& I 51,233 37,500 13,733
OXSXEs MIIMHIA SXH(ADAMOF H2
22l AL) 51,233
Xl 40,986
= 3,074
Al 7,173
IHLIHE S EH AL 4,930 4,902 28
< 2,465
Al 2,465
307 21201 A 4,930 4,902 28
< 2,465
Al 2,465
01 922724l 4,930 4,902 28
OJNLINHE SaHA 4,930
< 2,465
Al 2,465
HYEE XN 217,328 128,380 88,948
J| 108,664
< 54,332
Al 54,332
101 @124l 15,880 15,880 0
J| 7,940
< 3,970
Al 3,970
04 JIZHHZ2Z2XNHESE S 15,880 15,880 0
odgss 15,880
J| 7,940
< 3,970
Al 3,970
307 glz2+ol & 201,448 112,500 88,948
J| 100,724
< 50,362
Al 50,362
01 2724l 201,448 112,500 88,948
Oels+3d Al 36,260
J| 18,130
< 9,065
Al 9,065




2N HLSE
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el AST
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %Eﬁ
OM2x+=d A=t 165, 188
J| 82,594
= 41,297
Al 41,297
S™ S HAFOl & 2 AN & & 0F2e] 11,680 11,680
J| 5,840
& 2,920
Al 2,920
307 QI2t0| & 11,680 11,680
J| 5,840
& 2,920
Al 2,920
o1 s R=tl 11,680 11,680
OEEHE HAIOIAZAE AN & &H0F2te] 11,680
J| 5,840
= 2,920
Al 2,920
A XD & E 1,932 1,932
J| 966
= 483
Al 483
201 gBt2Ay| 143 143
Jl 77
o= 33
Al 33
01 AP 2t 2| H| 143 143
Ogst=2H| 143
—MMOIHE I 29 143
Jl 77
o 33
Al 33
307 212t0| & 1,789 1,789
J| 889
o= 450
Al 450
01 2sd =l 1,789 1,789
OAMOFLAE EI|XS 1,789
J| 889
= 450
Al 450
=0} & AFHO0lA0F 2 SH| A& 36,320 36,320
J| 18,160
& 9,080
Al 9,080
307 2iz2to| A 36,320 36,320
J| 18,160
& 9,080
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el AST
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
Al 9,080
01 222724l 36,320 36,320
Ofl=sot & & 40l40t 2 =HI 36,320
J| 18,160
< 9,080
Al 9,080
HESANEHE HE 540 540
J| 270
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Al 135
308 XtXIEHH SOl A 540 540
J| 270
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Al 135
10 SII 2SO CHetZ & = 0 & A& I 540 540
ORuEA+&FHH = 540
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Al 135
FAELME AAEL O/FH X 4,800 4,800
J| 2,400
< 1,200
Al 1,200
308 X EHSOIA 4,800 4,800
J| 2,400
< 1,200
Al 1,200
10 B2 S BAH A 4,800 4,800
OFAELR LASLo 2| 4,800
J| 2,400
= 1,200
Al 1,200
nAggaRozHl A& 13,920 13,920
J| 6,960
< 3,480
Al 3,480
307 21201 A 13,920 13,920
J| 6,960
< 3,480
Al 3,480
01 92724l 13,920 13,920
OLNAFL AR 2 Z2H| 13,920
J| 6,960
< 3,480
Al 3,480
IMA & ZH2R NS 45,457 40,578
= 22,729
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Al 11,364
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= 22,729
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Al 11,364
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01 AP 2t 2] H| 8,000 7,700 300
Ogbt=2H| 4,700
—22XEAH L SMEH EB 2,000
SEI AZE 15,0002 =180 2,700
oed44¢ 3,300
— ApEA WA 110,000& *303] 3,300
301 YptE A 268,000 208,000 60,000
01 M EXE 2562 150,000 90,000 60,000
OsAtE = H| 500,000 *300H 150,000
11 JIEtE2 A2 118,000 118,000 0
OEA=5I3(2F2I4EHA) 118,000
307 QI2t0| ™ 11,000 15,000 A4 000
o1 s R=H| 11,000 15,000 AN4,000
OBIEHAANEALE 1,000
OYUAE EHOF D& 0F 2 AHH] 25,000 400X 10,000
405 XHAHFEIEHI 1,500 0 1,500
01 XA 2B F S| 1,500 0 1,500
O"=J 150,000& = 10CH 1,500
S 0bF X XS 500,000 500,000 0
= 250,000
o= 125,000
Al 125,000
307 212t0| & 500,000 500,000 0
= 250,000
o 125,000
Al 125,000
02 QI AAIE E X 500,000 500,000 0
O=0F ArE01 ) 9 H| 500,000
= 250,000
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| Al 125,000
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< 10,500
Al 789,500
01 AISIE & A 452 800,000 610,500 189,500
Osd&EHAZ 800,000
=} 10,500
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HAXNE (EA/EH498)

Y Y
o Y oY
0% 1o ol4

= A

= - — SHE|
SN HH-S(BN) - MBAY - B e 2

01 At 22l 1,250 ,250 0
Og®0t AL H A SEH| 1,250
| 1,000
< 125
Al 125

308 XtXIEHHSOIA 1,776 ,624 152
p] 1,422
= 177
Al 177

10 BN 2SOHUS3AEHH A 1,776 ,624 152
Ogxotazzda 1,776
| 1,422
< 177
Al 177

FHO0F YETZOH ELZAH XA 314 314 0
| 250
< 32
Al 32

307 gl2tol & 314 314 0
J| 250
< 32
Al 32

01 2=2L =4l 314 314 0
OLE M 2Aaots =&l 314
| 250
< 32
Al 32

NEOotsdH AZF=I2AHM Al 4,300 ,500 A 200
< 4,300

201 L2l 1,400 ,900 A 500
< 1,400

01 At 22l I 1,400 ,900 A 500
OF=2--1. 200,000& *23| 400
< 400
Oun=siz 1,000
< 1,000

301 L2 A= 2,700 2,400 300
= 2,700

01 MEIBEZE 05z 2,700 2,400 300
(OFalign) 3=y. [ En W 112,500& 12 x23] 2,700
= 2,700
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O332=2 2 HA 1,950
— X EZHA OHLHE &= 1,950
LololE AHlA 4,800 4,800 0
307 QI2t0| ™ 4,800 4,800 0
01 elz2d2=H| 4,800 4,800 0
O=3ldlg 4= 4,800
EPAEEES R 7,580 8,470 A 890
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